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General Instructions:

1.

N

This question paper contains two sections:
Section A — Macro Economics
Section B — Indian Economic Development
This paper contains 20 Multiple Choice Questions of 1 mark each.
This paper contains 4 Short Answer Questions of 3 marks each to be answered in 60 to
80 words.
This paper contains 6 Short Answer Questions of 4 marks each to be answered in 80 to
100 words.
This paper contains 4 Long Answer Questions of 6 marks each to be answered in 100 to
150 words
SECTION-A
(MACRO ECONOMICS)

Find the odd one out among the following, with respect to the ‘Balance of Payments’ in
India: (1)
(A) Investments by Indian Investors under the ‘Make in India’ Programme

(B)  Loans received from Australia

(C)  Investment from abroad

(D)  Purchase of machinery from abroad

During Deflation, it is advisable to: (1)
(A)  Lower the bank rate and purchase of securities in the open market

(B)  Increase the bank rate and purchase of securities in the open market

(C)  Lower the bank rate and sale of securities in the open market

(D)  Increase the bank rate and sale of securities in the open market.

FDI inflow is recorded in which of the following accounts of Balance of payment: (1)
(A)  Current Account (B)  Capital Account
(C)  Foreign Reserve Account (D)  Depends on the type of FDI
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11.

12.

The impact of ‘Excess Demand’ under Keynesian Theory of Income and Employment, in an
economy is: (1)
(A)  Decrease in Income, output, employment and general price level.

(B)  Decrease in nominal Income, but no change in real output.

(C)  Increase in Income, output, employment and general price level.

(D)  No change in output and employment but increase in general price level.

The ratio of total deposits that a commercial bank has to keep with RBI is called: (1)
(A)  Statutory Liquidity Ratio (B)  Deposit Ratio

(C)  Cash Reserve Ratio (D)  Legal Reserve Ratio

Sushma tried to discharge her debt of 25,000 by giving one rupee coins which were not
accepted because coins are: (D)
(A)  Part of Money Supply (B)  Limited legal tender

(C)  Unlimited legal tender (D)  Both (A) and (C)

“Considering the depreciation of Indian currency in the International market, the Reserve
Bank of India (RBI) has decided to purchase Indian currency (%) in the open market”.

This represents exchange rate system. (D)
(A)  Fixed (B)  Flexible
(C)  Managed floating (D)  Manipulated

If the value of APC = 0.8 and National Income is 34,000 crores, the value of saving will
be: (1)
(A) X100 crores. (B) 200 crores. (C) X800 crores. (D) X500 crores.

Identify the incorrect option: (1)
(A)  GDPpp = NDPyp + Depreciation  (B) GNPgc = GNPyp + Net Indirect Tax

©) NNPyp = NDPpp + NFIA (D) NDPgc = GDPgc — Depreciation

Read the following statements carefully: (1)

Statement I: Average propensity to save can never be greater than 1, which means that
people cannot save more than their income level.

Statement II: When Marginal Propensity to save is zero, entire additional income is
consumed and multiplier is infinite.

In the light of the given statements, choose the correct alternative from the following:

(A)  Both the statements I and II are true.

(B)  Both the statements I and II are false.

(C)  Statement (I) is true but statement (II) is false.

(D)  Statement (II) is true but statement (1) is false.

Distinguish between ‘Fixed Exchange Rate’ and ‘Flexible Exchange Rate’ system. 3)
Calculate Net Value Added at Factor Cost from the following: 3)
Particulars X Crores

(1) Purchases from firm B 200

(11) Domestic sales 2800

(ii1) | Import of Raw materials 1800

(iv) | Consumption of fixed capital 500

(V) Exports 500

(vi) | Indirect taxes 350

(vii) | Change in stock 50

(viii) | Production for self-consumption 200
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OR
Define the following:
(a) Mixed Income
(b) Unilateral Transfers
(©) Gross Residential Construction Investment.

Suppose in a hypothetical economy, the saving increases by 320 crore when National Income
increases by X100 crore. Calculate the additional investments needed to attain an increase in
National Income by 26,000 crore? 4)

Show equilibrium level of income and employment with the help of Saving and Investment
approach. If planned expenditure is less than planned output, what changes will take place in

the economy? Use diagram. 4)
OR

(a) Explain the concept of Inflationary gap with the help of a suitable diagram. 2)

(b) ‘Decrease in taxes can correct the Inflationary gap’. Defend or refute with valid

arguments. 2)

‘Money helps to find out exchange ratio between various goods and services’. Identify and
explain the relevant function of money from the given statement. 4)

(a) Giving valid reasons, explain how the following would be treated while estimating
National Income: 3)
(1) Depreciation on capital assets charged by firm.
(11) Expenditure on education of children by a family.
(ii1))  Purchase of goods by foreign tourists.

(b) ‘Sale of private vehicles is increasing day by day’. Discuss its impact on GDP and
welfare. 3)

(a) ‘Government budget has an important role to play in fighting deflationary tendencies
in an economy’. Explain. 3)

(b) Classify the following statements as revenue receipts or capital receipts. Give valid
reasons in support of your answers. 3)
(1) Financial help from a multinational corporation for victims in a flood affected

area.

(i1) Sale of shares of a public sector undertaking (PSU) to a private company.
(i11))  Dividends paid to the Government by the State Bank of India.
OR
(a) Is Disinvestment a good means to tackle revenue deficit in India? Comment. 3)
(b) Explain the concept of Private goods and Public goods with respective examples. (3)

SECTION-B
(INDIAN ECONOMIC DEVELOPMENT)
To attract , China has set up Special Economic Zones (SEZs). (D)
(A)  Foreign Investors (B)  Tourist
(C)  Farmers (D)  Both (B) and (C)
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Read the statements carefully and choose the correct alternative among those given below.(1)
Statement-I: High percentage of employment in Primary Sector points to economic
backwardness of India.

Statement-II: Occupational structure in India has shown a massive change over time.

(A)  Both the statements I and II are true

(B)  Both the statements I and II are false

(C)  Statement (I) is true but statement (II) is false

(D)  Statement (II) is true but statement (I) is false

Arrange the following events of China in chronological order and choose the correct
alternative: (1)
(1) Great Proletarian Cultural Revolution

(i1))  Great Leap Forward Campaign

(ii1)  Introduction of Economic Reforms

(iv)  First Five Year Plan

Choose the correct alternative:

(A) i, iv, iii, i B) v, i, i, iii
©) 1, iv, 1, il (D) v, 1, ii, iii
Distress sale by the farmers refers to: (1)

(A)  Sale of rotten crop

(B)  Sale of crop through commission agents

(C)  Sale of crop at the MSP fixed by the government
(D)  Sale of crop at a very poor price

Identify the correct indicators of Human Development. (1)
(A)  Life expectancy at birth (B)  Infant Mortality Rate

(C)  Liberty indicator (D)  Both (A) and (B)

Given image is related to which of the following non-firm activity? (1)

(A)  Horticulture (B)  Pisciculture
(C)  Sericulture (D)  Tissueculture

From the following statements regarding Goods and Services Tax (GST), identify the
incorrect statement: (1)
(A) It ensures uniformity of tax rates across all states.

(B) It ensures better tax compliance and tax collection.

(C)  All types of direct and indirect taxes have been subsumed by it.

(D)  Itis imposed on the supply of goods and services.
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Identify the correct sequence of alternatives given in column-II by matching them with
respective terms in column-I. (1)
Column-I Column-II

(a) | Share of service sector in GDP is the highest | (i) | In India and Pakistan
(b) | Around 45% of the population is engaged (i) | In China

in agriculture sector

(c) | The growth rate was lowest in 1980s (ii1) | In China, India and Pakistan
(d) | Fertility rate is low (iv) | In India
Codes:
a b c d

Ay @ G @) (v)
® Gy @) (Gv) ()

© Gy @ (v ()
M) v @ G (i)

Read the following statements: Assertion (A) and Reason (R). Choose the correct alternative
from those given below: (1)

Assertion (A): Modernisation as a planning objective was expected to contradict with
employment generation

Reason (R): Modernisation refers to updating and adopting modern technology in the
process of growth.

Alternatives:
(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation
of Assertion (A).

(B)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

Identify the incorrect statement from the following: (1)
(A)  Import substitution was the strategy used to save foreign exchange.

(B)  License Policy ensured regional equality.

(C)  Russian economic model was the base for the Indian economic system.

(D)  Small scale industries are one of the essential tools for employment generation.

Underscore some of India’s most crucial economic challenges at the time of

Independence. 3)
OR

Explain important reforms introduced in Foreign Exchange Market under New Economic

Policy 1991.

‘Brain drain can be a problem for human capital formation in India’. Discuss. 3)
Explain valid reasons for the slow growth and re-emergence of poverty in Pakistan. (4)
‘Rural development is essential for Indian Economic development’. Do you agree with the
given statement? Support your answer with valid reasons. 4)

OR
Critically examine the role of ‘Rural Banking’ sector in India.
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Identify the production activity shown in the given image. 4)

if?
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State its role in Indian Economic development.

(a) ‘Land ceiling promotes equity’. Support the statement with valid explanation. 3)
(b) ‘Process of Globalisation has produced only positive results for India and other
countries’. Comment. 3)
OR
(a) ‘Government took steps to protect small scale industries from big firms’. Defend or
refute with valid arguments. 3)
(b) ‘The service sector in India has experienced rapid growth due to NEP’1991°.
Discuss. 3)

Read the following text carefully and answer the given questions on the basis of the same and
common understanding:

From political leaders to grass root activists, just about everyone have an opinion on
environmental issues. While viewpoints may differ, there is no denying that the environment
affects every one of us. Environmental issues are defined as harmful effects to earth and its
natural systems due to the actions of humans. Although climate change can also occur from
natural causes, human behavior has led to an increase in greenhouse emissions. While climate
change is discussed frequently now, it has been occurring since the industrial revolution.
Climate change affects everyone and the ramifications are visible by the variation in
temperatures and an increase of intense natural disasters. It contributes to even broader
problems like loss of biodiversity in our food systems. What’s more, the negative impacts are
likely to affect those who are already the most vulnerable. An additional concern is pollution
and its influence on public health. Research shows that black carbon is making dangerous
bacteria harder to kill and resistant to antibiotics. Moreover, black carbon increases risks of
heart attacks, strokes and even lung cancer.

(a) Identify the negative impacts of climate change. 3)
(b) ‘Environmental issues have become a major concern’. Comment. 3)
% sk ok
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